Name Date

Q) spin for 50 N

Use a 100 Chart.

1. Marissa and Tyrone are playing Spin for 50. Marissa has 4 full ten
frames and 6 left over. Tyrone has 3 full frames and 9 left over.
Who is winning?

2. How many more points does Marissa need to reach 507

3. How many more points does Tyrone need to reach 507

P/, 100 Chart N

Use a 100 Chart.
1. What number is ten less than 14 ?

2. What number is ten more than 147

3. What number is to the right of 147

4. What number is to the left of 147

5. lamon 14. | move 3 spaces to the right.

What number do | land on?

6. | am on 14. | move 3 spaces to the left.

What number do | land on?
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